STYKLISTE

Side 1

MODEL 6316D

Pos. Art.nr. Betegnelse Stk.  Note

001 851481-9  TYPESKILT 6316D
002 266130-9  BLIKSKRUE PT 3X16
003 9111432  SKRUE M4x22

004 3443912  BIT-HOLDER (6213DW)
005 183489-8  HUS KPL. (6316D)

AN =N =

INC. 19
006  125091-1 GEARVALGER
007 416079-5 SKIFTEPAL H/V (6213DW)
008 651939-6 AFBRYDER ELEKTR.###(650540-4)
009 687085-9 KONTAKTPLADE (6213 DW)

010 654168-0 KONTAKTFJEDER (6213DW)

011  654169-8 KONTAKTFJEDER (6213DW)

012 251464-3 SKRUE M6x22

013 193616-9 BOREPATRON 13MM###(766010-4)
014  125105-6 GEAR KOMPLET

015 629733-4  MOTOR 12V (6216D)

016 265999-8  SKRUE M4X25###(266374-1)
017 266134-1  BLIKSKRUE ST M4x8

018 9110062  KOMBI-SKRUE

019 183489-8  HUS KPL. (6316D)

_a A WA Al g g A A A Ao

INC. 5
AO1 343579-1  BATTERIHOLDER###(344798-2)
A02 784637-8  +/-BITS (10)
AO3 343579-1  BATTERIHOLDER###(344798-2)
A04 4149387  AKKUKAPPE .

AO5 784637-8  +/- BITS (10)
A06 824626-2  TRANSPORTKUFFERT(63,84,DWFE)
A07 193059-5  AKKU 1235 NiMH 12V 3,0Ah

A a2 a2 =




EKSPLOSIONSTEGNING

MODEL 6316D




